Math 7 Final Exam Review
Name: _________________________________  


Hour: _____________
Directions: Answer each question completely. Show your work for full credit. Use this review to help you study for your final exam!!

1. Find the unit rate.

$2.42 for 8.4 ounces of crackers.  

2. Find the best buy.

15 packs of juice for $3.95 or 20 packs for $6.20.

3. Use cross products to determine if the following are proportions.
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4. Use a proportion to solve. 

2 out of 3 people surveyed said that American Idol should not be on TV anymore. If 1500 people do not want American Idol on TV, how many

people were surveyed?
5. Calculate the cost of a new car costing $48,000 with a sales tax rate of 6%.

6. Find the percent of increase.

110 to 260

7. Find the percent of decrease.

54 to 16

8. 49 is 26% of what number?

9.  What percent of 78 is 36?

10.  Multiple Discount:

An item at Macy’s is originally priced at $78.00. It goes on sale at

15% off. It is then clearance priced at an additional 10% off. 

a. Find the final cost of the item (do not include tax). 

b. How much would the sales tax be if the sales tax rate were 6%?

11.  Simple Interest Formula (
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) Use the simple interest formula to find the interest earned

a. $970 at 4 ¼% simple interest for 2 years

b. $182 at 6% simple interest for 4 years

12) What is the opposite of 24? ____________


13) What is the opposite of -104? __________

14) Find 
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15) Find 
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________________

16) Compare -5  __________ -7




17) Compare 
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18) Order the following from least to greatest: 4, -6, 2, 0, -7

__________________________

19) Order the following from least to greatest: 
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, 27, -26, -25, 
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    ________________________

Solve. Show ALL of your work!
20) -13 – 36 ________________

  21) -56 + 72
________________

22) 84 – (-23)
________________

23) 24 – 45 ________________

24) -4(-83)________________

    25) 6(125) ________________

26) 8(-31)________________

    27) -121 ( 11
________________

28) 
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29) 
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________________

Evaluate the following.
30) 8 – 42 ( 7 + 7 ( 3
________________



31) 40 – 2 ( 32

     ________________

32) 4 + 8 ( 2 + 6 ( 4
________________



33) 8(4 – 32)


________________

Use the distributive property to simplify.
34) 6(j – 5) ________________

35) -2(-7k – 9) ________________

36) -8(6 + 11d)________________
37) (10k – 13)3________________

Match the properties with the correct example. Use CAPITAL LETTERS!
38) ____  Identity Property of Addition
  

A) 5 + 0 = 5

39)____  Inverse Property of Addition
   

B) 4 + 5 = 5 + 4

40)____  Associative Property

  


C) 
[image: image11.wmf]1

3

3

1

=

×

 

41)____  Commutative Property

  


D) 8(0) = 0

42)____  Distributive Property

  

E) (4 ( 5)6 = 4(5 ( 6) 

43)____  Multiplication Property of Zero
    
F)  5(w + z) = 5w + 5z

44)____  Identity Property of Multiplication
 G) 9 + -9 = 0

45)____  Inverse Property of Multiplication
 H) 7(1) = 7

Solve the following equations.
46) h + 11 = -26 ________________



47)3x + 12 = 36   ________________



48) 
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 ________________

49) 
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________________



50) 
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51) 
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52) A 6-foot adult has a shadow that is 4 feet long. How long is the shadow of a 3-foot child standing next to the adult?

53) Los Angeles is about 385 miles from San Francisco. How far apart would

the cities be on a map with a scale of 1 in = 25 mi? Round to the


nearest hundredth.
The following figures are similar. Find the value of the variable.


54) 






   ________________
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